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FA BB A iR T B H I AL EE ek Hh M XAT 532> B 46 B AL EE R U D FE TE

%5 A B fok it Hh XK A [BIF6 TE O H5 78 AL EE G & &
% e @& H A w = | &%
1 [FET2 0 T T H PN % 0.15 ha 1
2 |pk ERET2-1 FEFETRE ERTST B N # 0.10 ha 1
3 |B% LET8 FEFNATERE ERT I T B HipS % 0.16 ha 1
4 |B&_EET9-1 R ERT =T B #iR ¥ 0.12 ha 1
5 | _EBT9-2 FEFHE T BT =T B #ip % 0.09 ha 1
6 |B EHT10 FER T EET =T B #ip % 0.09 ha 1
7 |B% _EET22 FEFIE T EET =T B HiN ¥ 0.09 ha 1
8 | EHT24 AR BT T B #iN ¥ 0.15 ha | —%p5®E 1
9 |p% EET27 FRETRE R T B H#iN # 0.09 ha | —=RiEE 1
10 |5% EMT14 FRETEE LRI T B #iN % 0.33 ha 2
11 |5 ERT29 FRmmEE BT T B H#iN % 0.11 ha 2
12 |#% ERT35 R0 TR ERETIO T B HN 9 0.09 ha 2
13 |/n=FET17 FREATANSERT I T B Hip % 0.13 ha 3
14 |FEARRDIEETL | B R RN EEET A % 0.07 ha 3
15 |FEARK/NEET2 | FEF AR R NEET HpS % 0.05 ha 3
16 | /\hERT5-1 50 T\ % BT Hh P 9 0.04 ha | —¥iEE 3
17 |/\pEET5-2 S0 T\ % BT P # 0.06 ha | —¥sE 3
18 | J\iEET9 S0 R T\ R BT Hh N # 0.10 ha 3
19 |H0SFRET6 R ETANSFET Y T E #iA % 0.05 ha 3, 4
20 [/\BEHETS 0 )\ BT H P ¥ 0.10 ha | —%¢s®E | 3. 4
21 |hnsFET1 R ETANSERT IO T B Hi # 0.10 ha 4
22 | THuLHHET2 FEFIHETT T EET T B i # 0.28 ha 4
23 | FHhEBT6-2 FFn T AL EET T B #iN % 0.06 ha 4
24 |HFHHET3 FEFNHE T A HET T B #iIN % 0.05 ha 4
25 |HFETT FEFET AR T B #iN % 0.05 ha 4
26 |*PHETS FEAETEHET =T B #iN % 0.07 ha 4
27 |9 HHETY FERETRHET =T B H#AN # 0.07 ha 4
28 | HHETL0 FEFNE TR AT =T B #ipy # 0.11 ha 4
29 |FHHET16 ERBETRHET=T BH#p ¥ 0.06 ha 4
30 |HHHETLT FEFOE T BT =T B #py ¥ 0.08 ha 4
31 |HHHET21-1 FEFETRHET—T B #N # 0.09 ha | —Ep3EE 4
32 |FHHET21-2 FFET P HET—T B H#N # 0.11 ha 4
33 [FFHHET22 R ET P HET—T B #AN # 0.13 ha 4
34 |FHHET25 FEFETFHFET—T B AN # 0.06 ha 4
35 |HHET36 FEFET R HET—T B #py % 0.09 ha 4
36 |HFEHET3T7 TP HET — T B #iN ¥ 0.11 ha | —EEE 4
37 |FEANETT R T EREANEETHIN ¥ 0.17 ha | —EsE 4
38 |FEAMETY R T EANERT N # 0.11 ha 4
39 |FELREETS FERHETELREET—T B H#AN % 0.11 ha 4
40 |FEA-FEETS FEFHETELRET T B H#ipy # 0.11 ha | —ZpIEE 4
41 | EHHET7-3 EFHET AT T B#A # 0.11 ha 4
42 | FFHMET3-1 FEFHETRHET T B#AN ¥ 0.19 ha | —EEE 4
43 | FHIHAT3-4 SEFTE T AT T B HiP % 0.18 ha ERETE 4
44 |FHHRT13 EFIE TR AT —T B #iP % 0.09 ha 4
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B2 A BESF L HE X A B8 TE DHFTE A PERE I & &
4 il = S w = | &5
45 [FEAMTS EFEHRAR—T B #iN # 0.09 ha | —EZR#EE 4
46 |FEAETL3 EfEmfmRART—T B #iN % 0.05 ha 4
47 |FEAHTL8 FEfmERAE—T B #iN ) 0.08 ha | —EBIEIE 4
48 |FiARHET25 R R ARET—T B #iAN % 0.05 ha 4
49 |FE - EET4T AR LR =T B #iN ¥ 0.09 ha 4
50 |ZE-RRETY EFETHE MR =T B PN # 1.06 ha | —%f485%€ | 4. 5
51 |¥EApEET44 FRETHE I =T B AN # 0.19 ha | —%fM8E | 4. 7
52 |FE L REET46 R AT E S RRET =T H H#iN # 0.24 ha | —¥#EE | 4. 7
53 |FELFEETLO EfBETRELEIT=T B #HN % 0.0l ha | —ZfiEE 5
54 |EHKERAT4 S0 [ T B EE AT Hh Y % 0.13 ha | —ZfEE 5
55 |HKBEHETS S0 T R R R AT PN # 0.17 ha 5
56 | LEFET21 EEF0 T - ET B RPN ¥ 0.11 ha 6
57 [Pz PNET4-1 0 TV 2 PYETHIEPY ¥ 0.17 ha | —¥p¥EE 6
58 [BEFHET4 R0 TR ET T B HN ¥ 0.09 ha 6
59 [BEHET25-1 B THEEET =T B #N ¥ 0.10 ha | —EMEE 6
60 |FEIHET25-3 BT EEFET =T B A # 0.03 ha | —H6E 6
61 |FEZPIHET9 BN T 2 PNETHE ¥ 0.08 ha 6. 7
62 | TFHaET4-1 FEFETT/\BRET—T B #iN # 0.06 ha 6., 7
63 | EET2 SR T BT HIPY % 0.06 ha 6. 11
64 |HLFAETL8 - Fn H T FLET BN # 0.13 ha 7
65 |KET6 EfETRRET =T B #N % 0.22 ha 7
66 | KHTS EFETAET =T B #IN ) 0.07 ha 7
67 |KHET9 FEFD T ORET I T B Py # 0.19 ha | —EBFEE i
68 |/NEs ELHT3 FEFnE T/ B ETHEN % 0.15 ha ¥
69 |/NAEHET16 N E /A B ETHIN # 0.09 ha ¥
70 |/NMAERTLT EEFn B /S AT HI PN # 0.07 ha 7
71 |/ ERT24 N A AR EET PN % 0.08 ha 7
72 |/ EBET49 R0 B T/ BT Hi PN # 0.12 ha | —HEMRE 7
73 |/ EEETT2 0 F THAB R ET Hi PN % 0.01 ha | —¥pkEE 7
74 |7 EET85 0 T /RS BT HiL # 0.19 ha 7
75 | HLEETT FEFIHETT T EET =T H HpY ¥ 0.26 ha | —EEE 7
76 | T L EET10 BEFIET T EET =T H HipY % 0.19 ha T
77 | FHLEET13 FEFNETT FHEET =T H Hipy ¥ 0.10 ha | —Ef4EE 7
78 | THLEAT31-2 BAETRET RO T BRI | £ 0.01 ha | —EfEE 7
79 | FHAETS FEFnmET/\BRET—T B #N % 0.08 ha 7
80 |#EIRHTT 0 T AR ET HL % 0.11 ha 7
81 |#EJFHT8-2 0 T AR ET HE PN % 0.04 ha | —¥BIEE 7
82 |/AELETH8-2 D T/ R ET HEN % 0.15 ha | —%BIETE 7
83 |/aELET64 0 T /R BR BT PN # 0.12 ha 7
84 |/ EEET66 FEFN /N B ET RPN % 0.11 ha | —ER4EE 7
85 |/ ERETT8-1 0 F R BT HE P % 0.05 ha | —EMEE 7
86 |/ EEET80 EFn B /s B ET HL PN % 0.04 ha | —ERIEE 7
87 | KETIXHE4 FFRmETRETI T B #iN # 0.35 ha | —Hf¥E®E | 7. 8
88 | FAAET27 FRET TR T B #N % 0.08 ha | —Hp#EE | 7. 12
89 |%ZEJRHT6-1 AT R O FRETAN | K9 0.456 ha | —#fEE | 7. 12
90 |ZEJFHT6-2 =0 H T AR R BT HU Y # 0.10 ha 7 19
91 [MFAETI-1 FEF AT AR R OV RETHIPN | F9 0.20 ha | —#HEE 8
92 [HAET1-2 J 0 FE BT PN ¥ 0.05 ha | —HEE 8
93 |[HhAET1-6 B0 FE T ML T P # 0.12 ha 8
94 |HhFET6 B0 FR T ML T B PN # 0.11 ha | —ZF#5E 8
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P A T fok it 1 X A B & D45 E A PERGHE il
% PR A mo M 5 % 5
95 |4 AKHT3 RN H A ARET HIN # 0.11 ha 8
96 |5 AET6-1 0 TS ARET HIPY #) 0.22 ha 8
97 |5 ARHET9-2 FEFHE TS ARBETHIA # 0.18 ha | —HEfEE 8
98 |4 ARHET9-3 FEFIHE TS ARBTHI # 0.05 ha | —EEE 8
99 |5 ARHTI-6 = T A AT Hi Y # 0.02 ha | —EBIEE 8
100 |5 ARET10-2 R A AR BT HIPY ¥ 0.20 ha 8
101 |5 ARET11-1 FEFIE TS AR HIA % 0.19 ha | —¥tEE 8
102 |5 AET11-3 FEFOHE A ARBET PN # 0.26 ha 8
103 |5 ARET11-6 R0 TS AET #i PN ¥ 0.10 ha | —EptssE 8
104 |5 ARAT14-2 S F0 TS ARET H PN # 0.17 ha 8
105 |45 AET14-3 0 A AET #PN ¥ 0.08 ha 8
106 |5 ARHET15 R0 TS AT HI PN # 0.07 ha 8
107 | KETXE3 0 T KRR T PN ¥ 0.09 ha | —EFtsE 8
108 | AHT[XHE6 S50 F T RO R HT HE N # 0.13 ha ]
109 |MiEAKET14-1 0 T A AT HE N % 0.07 ha 8
110 |HiEAKET14-4 =0 T R K ET HE PN % 0.06 ha 8
111 |HEIEHKET7-3 S0 T R KT HE P % 0.09 ha 8
112 |FEEET10 0 TR KRET H % 0.27 ha 8
113 |EEERTL13 =70 HH T TR BT Hhpy % 0.10 ha 8
114 |[FEEET37-2 =0 H T A KT HEPY % 0.22 ha 8
115 |=MHHET12 FEFE T = mEET AN % 0.10 ha | —EMEE 8
116 |=mHHET21 S0 FE T = AT RN % 0.05 ha 8
117 |[i] | LimEy2 R0 TR AN B O (LETH PN | 49 0.26 ha 8
118 |45 AHTT7 FARHE TS ARET HIN ¥ 0.21 ha | —¥pisE 8
119 |=mHET3 FRMET = mETHIN # 0.19 ha ]
120 | = HHET9 FR0 M TH = HETHN ¥ 0.07 ha 8
121 |=HET10 FEF0 BT = HET HpN 1 0.08 ha 8
122 |=HBT11 R0 T = HETHN % 0.09 ha 8
123 |=HET14 FRETH=HEETHIN # 0.12 ha | —EBIEE 8
124 |=HET17-1 A0 B = B ET LY 1 0.13 ha 3
125 |=HHEr31 BT = HETHN # 0.09 ha 8
126 |HIEAET10 0 T TR AT H Py # 0.18 ha 8
127 |BREERT16-2 J 0 H T A AT i py # 0.11 ha 8
128 |FEEEXHE1 70 T EE I T M PN # 0.17 ha | —EB¥EE 8
129 |BEE X8 S0 T R T HE PN # 0.13 ha | —EEE 8
130 |BEESIXH9 S0 H T RGBT H PN % 0.09 ha | —EHEE 8
131 |EEGXiE 10 S T R T H PN ¥ 0.04 ha | —EBHETE 8
132 PR XiE 13 J5 0 HE T BRI T b PN % 0.09 ha | —EEE 8
133 |G XHE 14 JFn B T ER I T Py % 0.54 ha | —EEE 8
134 |EESIXHE 15 70 B R ET Y # 0.12 ha | —EBIEE 8
135 |[# (LIET5 S50 B T LT R Y ¥ 0.10 ha 8. 13
136 |=mMHET35 FEF0 T = BT P % 0.06 ha 8, 13
137 |EEEHT32 J 0 B T RIS T M Y 5 0.06 ha 9
138 |EEiEET29 B Fn T RS ET I % 0.07 ha | —Eis8E 9
139 |H4HRT1 EfETH AR T BN % 0.06 ha 11
140 |+AHT2 R ETEFHET =T B #A # 0.05 ha 11
141 |E£4HET9 EfET AR —T B #A # 0.15 ha 11
142 | +4HET21 EREm AR T BN ¥ 0.09 ha | —EB$EE 11
143 | +4HET26 FERETEAR T B#AN # 0.08 ha 11
144 |+4ET59 FF0E mEF BT PN # 0.15 ha | —ERIEE 11
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£ A FE R HIL BN X A A48 TE D E A PE G &
7| & B r® I ® = | &%
145 |mg_ERT5 Frf A TE BB —T B #AN # 0.05 ha | —EBIEE 11
146 |mg_ERET23 FERHE TR BB —T H H#iHN # 0.13 ha 11
147 |mg_EAT30 FRHETR BB T B #iN # 0.15 ha 11
148 |m5_EAT31 AFIETTE LT T B #N % 0.05 ha 11
149 |rg _EHET39 FFETREE EBT T B #iN ¥ 0.12 ha | —HEE 11
150 | F#ART26-2 EfmET/\RKET =T B #KH ¥ 0.11 ha | —ZB¥EE 11
151 |HhRHET21-1 0 T LR BT HE % 0.14 ha 12
162 |[HhAET21-2 JE L R T L BT - Y # 0.11 ha 12
153 | EAAAT15-1 FEFnET EASBT R T B #iIN # 0.14 ha 12
154 | EAAET15-2 FEFIET EASET R T B #iN ¥ 0.25 ha | —EREE 12
155 | E#AET16 FFET _EARRTIUT B #i ) 0.14 ha 12
156 | EARET17 FEFNE T TFASET KON ERARTHEPY | #9 1.27 ha 12
157 |{EFHT13-4 0 R AERTHIEY # 0.07 ha | —EB4RE 12
158 |ART72-1 FEF0 T A AT # Y # 0.11 ha 12
159 | FHAET45-3 FFET TR T B #iN %1 0.05 ha 12
160 [TFHAHT59 D T T ASET RPN ¥ 0.12 ha 12
161 | TFAHAET60-1 R0 R AERT #i N ¥ 0.09 ha | —IHEE 12
162 | FHAET62-1 N M R AE BT HiN ¥ 0.04 ha | —¥EE 12
163 | FAAET62-4 FEFE T FRET R OVRAERTRPN | £ 0.43 ha | —ER4E/E 12
164 | FHAET62-5 EFET TRET R OVRAERTRPAN | £ 0.24 ha | —E4EE 12
165 | FAAET76-1 S0 A T _EASET HPN ¥ 0.04 ha | —IZISE 12
166 |ZEJRET6-3 = F0 F T AR AT HE Y ¥ 0.41 ha | —H¥EE 12
167 |ZEJFET6-4 570 H AR JRET Jipy % 0.13 ha 12
168 |ZBJRET12-1 50 H T AR RET HE P ¥ 0.09 ha | —EHEE 12
169 |ZBJERET12-2 0 T AR R T HI N ¥ 0.07 ha | —ZBIEE 12
170 |ZEJFRT13-1 0 AR JEET H Y ¥ 0.06 ha | —ZpiEE 12
171 |ZEJRET13-2 = F0 H T AR R AT P % 0.14 ha 12
172 |ZBJEHT15 50 H T 2R ET LN % 0.01 ha | —H¥$BE 12
173 |4E)EET16-5 ERETHREAR =T BHAN % 0.05 ha 12
174 |fEFET15 = F0 H T AR BT N ¥ 0.05 ha | —HfEE 12
175 | HART71-2 B0 B HAERTHIN % 0.13 ha | —EffEE 12
176 |R4ART31-4 0 B TR AERT H PN ¥ 0.12 ha | —EfEE 12
177 |RAEXHE4L FEFI BT EARTIUT H#HAN % 0.08 ha 12, 13
178 | TFHART76-2 S F0 T _EASET PN # 0.17 ha | —E#8E | 12, 16
179 |BAXEI11 EfEHEARNT B N 9 0.07 ha | —ERfEE 13
180 |BAXE13 FEREMREARALT B AN 9 0.07 ha 13
181 |BAEXHEI14 FRETREAR T B #N % 0.12 ha | —¥p$EE 13
182 |RAXH 16 AT RAR AT B #AN % 0.07 ha 13
183 |BAXHE17 FRMBEHEARET BH#HN % 0.10 ha 13
184 |EAXHE20 FERRHREARET BN % 0.08 ha 13
185 [BAXE21 FR AT RAR T BHHA # 0.11 ha 13
186 |4 [XH24 AT RAR ST BN % 0.22 ha | —I8E 13
187 |RAEXH26 FRETRAR ST BH#A % 0.05 ha | —ERISE 13
188 |BAEXH27 FRETTRAR ST B #AN # 0.19 ha | —HMEE 13
189 |[EAXH28 FRETHEAR AT BN # 0.15 ha | —EMEE 13
190 |BARXE?34 FRETRAR ST B AN % 0.11 ha | —ZB¥EE 13
191 [BAXH36 FRETTRART B #N % 0.08 ha | —¥piEE 13
192 |RAXE39 FRETRARINT B HIWN # 0.12 ha 13
193 |RAEXHE45 T RAR YT H HIPN # 0.08 ha 13
194 |RAXHE46 FEfETRAR BT B HIP ¥ 0.05 ha | —ZEE 13
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a2 A PEFR i HI X A [EIFRE DR E £ PEREHN T
% R A m A fid = z =
195 [=HET40-2 570 B T = AT # 0.05 ha 13
196 | =HET43 50 T = AT N # 0.05 ha 12
197 |=HHET74 S0 F T = BT P # 0.20 ha 13
198 [[@ LB 16-1 S0 FE T (R LT P # 0.04 ha | —EpiEE 13
199 | | LIBT17-3 S0 H T (] L) BT b Y # 0.04 ha | —EfEE 13
200 |[#1LET18-2 S0 E T (o L) BT b Y % 0.04 ha | —EpiEE 13
201 | |LET26~1 0 T LT H P ¥ 0.13 ha | —#pisE 13
202 |[d [LIBT29-2 5 0 P T LT PN # 0.18 ha 13
203 | [ (LIET30 S0 T LT b Y # 0.10 ha | —EFfEE 13
204 [ | LAT31 S0 P T LT H P # 0.10 ha | —EptsE 13
205 | 1LIET33 J= 0 F 7 o LT P # 0.09 ha 13
206 |[i] LI 34 S0 R T (LB T H P # 0.35 ha | —%pisE 13
207 |[d | LIHT34-1 S0 T (LU BT H % 0.10 ha 13
208 |[i [LIET 36 JE= 0 R 7 o LT P # 0.32 ha | —&f8E 13
209 | [LIET39 J5= i R T o LT P # 0.27 ha 13
210 | (LiET41 50 H 7 ] (L T %) 0.06 ha 13
211 |=HHET47-2 70 T = EET # 0.11 ha | —EE=E 13
212 |=MHHT49 =0 H T = T Y # 0.11 ha 13
213 |= HET54 0 T = BT PN % 0.07 ha 13
214 |=HHAT58-1 = F0 = ET RN # 0.10 ha 13
215 |BABT16 J R0 ] LT # 0.08 ha 13
216 |RART54 S0 FE 7 ) (LT P % 0.06 ha 13
217 |=HHET48 R0 T = EETH P # 0.13 ha | —#BEE | 13, 14
218 |=HHET60 =N T = T N # 0.16 ha 14
219 | =FHHAT62 R0 = AT RN #00.09 ha | —EpEEE 14
220 |=H®ET59 SR = EET PN 9 0.21 ha | —¥iEE 14
221 |HRESFET20-1 S0 TR ACHT H P % 0.08 ha 15
222 |HREESEHT31 JF 70 H T P ASHT Ji PN % 0.19 ha 15
223 |FREESFAT33 ST FE TR S5 T i PN 9 0.15 ha 15
224 |HRAHT3-2 50 H T e AS BT HEPY 9 0.12 ha | —¥$87E 15
225 |PEAET34 A0 i ASET H Py # 0.15 ha 15
226 |JHET14 0 AT —T 3 #iN ¥ 0.02 ha | —EEE 15
227 |FRFESFHTL6 0 AR SFET— T H #iPY % 0.05 ha 15
228 |JiAET4-1 = F0 H i ASET #i PN % 0.11 ha 16
229 |JAET5-2 0 H AT L ACET # PN # 0.08 ha 16
230 |+AHT12 R E T EARTHIN % 0.80 ha | —&iiEE 16
231 |+ART20-3 0 T AR RT RN # 0.06 ha | —¥B+EE 16
232 | H4RT20-4 R0 T AR BT H PN # 0.16 ha | —IZf8E 16
233 |+AHT25 S0 H T AR RT Y ¥ 0.05 ha | —EfEE 16
234 |+4HT31 N T AR RT HU PN # 0.17 ha 16
235 | -AEHT38 R E T EARTHIN # 0.05 ha 16
236 |E _EET5-6 A0 H TR R AT By # 0.31 ha | —EpIEE 16
237 |E _LHET8 AN T ARE E AT HLAN # 0.09 ha | —Hf8E 16
238 |= _EHT9 A0 H AR R AT H P # 0.06 ha 16
239 |E FET10-1 0 B AR B AT HIL Y # 0.13 ha 16
240 |H EET11 FEFATEBRIT R OE EATHA [ 49 0.15 ha | —EB5E 16
241 | THART6T TR _ERTHN # 0.05 ha | —EREEE 16
242 |RAERT53 S0 AT ERART HiPY # 0.06 ha | —ERIEE 16
&t 2424 [X % 31.43 ha
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